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I culusla pg①
Coordinates

theorem
Suppose we

have a polar equation

r=f( O )
.

Suppose f is differentiable

at Go .
Then the slope of the

tangent line at ( r
,

E) = f Hoot ,
Oo )
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provided the

denominator is not Zero .



Ed : Consider p③
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⇐ Last time we graphed pg①
r = cos ( 20 ) r

ft = cos Goy#
When E- I ,

r= cos ( 2. F)
= cos (F) =L -
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Finding p⑦
Suppose R is a region ,

bounded

by the polar curve r -

- f C O )

and the rays 0=2 and

f-  =p .

Suppose HH is positive

and continuous
and Os B - a E 21T

.

Then the n

Area of

R is
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Lisalpha,pisbeta#



EI : Find the P④
Area of the top

half of a circle of

radius 10
.

10 = f ( o )
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